Orebro lans BF
IAF DM-lag, rond 9 2022-02-13

IMP o6ver féaltet, 10 bord, 20 par. Antal brickor: 12.

Plac Par Poéng Namn MID
1 5 3.44 Allan Oberg - Mats Oberg 90229 10375
2 304 3.12 Lars Lundgvist - Lena Lundgvist 6692 25982
3 101 2.86 Pasi Kallio - Kenneth Wallin 4029 1597
4 203 2.80 Kjell Karlsson - Tommi Ramstedt 4136 51783
5 1 1.62 Ann-Christin Ahlstrom - Helen Uliczka 31274 31853
6 204 1.32 Anki Johansson - Bo Stanley 29219 11020
7 302 0.94 Bjorn Andersson - Tommy Andersson 14660 14659
8 103 0.51 Jimmy Herrdin - Magnus Hultman 81411 14044
9 305 0.29 Anders Faélling - Erik Spangberg 60126 140
10 2 0.03 Thomas Brehmer - Johan Gronkvist 4133 8342
11 202 -0.03 Johan Karlsson - Johannes Matsson 32229 52882
12 105 -0.29 Joakim Johansson - Lennart Johansson 68245 20178
13 303 -0.51 Therése Andersson - Annika Forsberg 35554 25019
14 102 -0.94 Tobias Bern - Klara Gustafsson 66187 67625
15 4 -1.32 Karola Hogberg - Lars Lilja 17222 4118
16 201 -1.62 Leo Karttunen - Micael Svensson 7838 2383
17 3 -2.80 Krister Berg - Bjorn Forsberg 9747 8319
18 301 -2.86 Pontus Adolfson - Dejana Sverker 12775 50940
19 104 -3.12 Bertil Blomgvist - Gun Réhnisch 7823 10595
20 205 -3.44 Kent Karlsson - Michael Runfors 4155 10344
1 4 K872 Basta kontrakt 2 454 Basta kontrakt 3 4 D84 Basta kontrakt
Nord v95 4v O =-420 Ost v EKDKn2 54 O D -3 500 Syd vE107 ANT O =-630
Ingen +753 NS ¢ EKn5 ov ¢ 7642
«D864 & ¢ v & NT #D53 & ¢ v & NT #654 & ¢ v & NT
4 D1063 «Kn4 N4 6 344 a2 4« EDKn93 N4 6 87 10| 7 4 K1096 N46 263
vDKn1072 vEK84 S 46344 v 1087643 v- S 4687 10 vKKn86432 vD5 S46 26 3
+9 + KD64 08 7 109 9 + D983 ¢72 08 456 3 +ED ¢ K95 09 6 107 10
#EKn2 *K109 vV 8 7 108 9 *EK #Kn109874 V 8 4 5 6 3 «D109 #EKn87 V 9 6 107 9
4 E95 « K10876 & EKn532
v 63 v 95 v9
+ EKn1082 + K1064 + Kn1083
#753 *62 *K32
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2202 49y O= &8 -420 10 -10| 1201 2¢vyDN= #J 670 102.0 -102.0| 1 201 4v V= ¢4 -620 8.0 -80
3203 49 0= v6 -420 1.0 -1.0|105 305 44 O-4 v9 200 21.0 -21.0| 2202 4v V= &3 -620 8.0 -80
4204 4v V= ¢3  -420 1.0 -10| 5205 440-3 ¥5 150 6.0 -60| 5205 4vV= +¢6 -620 8.0 -80
101 301 4v O= v3 -420 1.0 -10| 2202 2y N= #J 110 -5.0 5.0|102 302 4v V= #4  -620 8.0 -80
102 302 4v V= +2 -420 1.0 -10| 3203 2y N= &J 110 -5.0 5.0 (105 305 4v V= 48 -620 8.0 -80
103 303 4v O= v6  -420 1.0 -1.0(103 303 2¢v N= «J 110 -5.0 50| 4204 3NO+1 3 -630 8.0 -80
104 304 4v O= #3  -420 10 -1.0|101 301 44D O-1v9 100 -6.0 6.0 3203 4vV+l ¢4  -650 -2.0 2.0
105 305 4vy O= v6 -420 10 -1.0|102 302 3#0O0-2 ¥9 100 -6.0 6.0 (101 301 4v V+1 ¢4  -650 -2.0 2.0
5205 3NO+1 ¢8 -430 10 -1.0|104 304 24 0O0= v9 -90 -51.0 51.0|103 303 5v V= 44 -650 -2.0 2.0
1201 4v O+1 45  -450 -9.0 9.0| 4204 3NS-1 8 -100 -51.0 51.0(104 304 44DS-4v4 -800 -420 420
4 » EKn8632 Bésta kontrakt 5 4 D42 Bésta kontrakt 6 « D106 Bésta kontrakt
Vast v76 4v O =-620 Nord vKD76 3v O =-140 Ost vD1074 3¢ O =-110
Alla ¢ D52 NS +53 ov + 853
&73 & ¢ v & NT #D652 & ¢ v & NT #K106 & ¢ v & NT
41054 « KD9 N6 726 4 4 K63 4 E1095 N85 446 453 » EK87 N7 4766
vEDKn10 vK8542 S67 264 vKnl1094 vE852 S 85446 vKn63 vE52 S7 4766
+73 + K84 O6 6 107 7 ¢EKD9 ¢Kn84 0589187 ¢+ D1062 ¢ EKKn7 O6 9667
#EKKn5 #D10 V66977 #Kn3 *84 V589387 #8752  #Kn3 V69667
a7 & Kn87 & Kn942
v93 v3 v K98
+ EKn1096 ¢ 10762 94
298642 #EK1097 #ED94
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5205 6y V-2 4A 200 117.0 -117.0( 1 201 4v V-2 +5 100 48.0 -48.0|102 302 3NO-2 %4 200 40.0 -40.0
3203 4vV= 42 -620 -11.0 11.0| 2 202 4v V-1 &5 50 340 -340| 1201 2NO-1 44 100 13.0 -13.0
101 301 4v V= &7 -620 -11.0 11.0| 4 204 4v V-1 &5 50 340 -340| 2202 2NO-1 44 100 13.0 -13.0
102 302 4v O= &7 -620 -11.0 110 5205 4v V-1 3 50 340 -340| 3203 2NO-1 +9 100 13.0 -13.0
104 304 4v V= &A -620 -11.0 11.0|101 301 2vV= +5 -110 -3.0 30| 4204 140-1 43 100 13.0 -13.0
4204 3NV+1 46 -630 -11.0 11.0|103 303 2v O+1 &A -140 -12.0 12.0|103 303 2NQO-1 44 100 13.0 -13.0
103 303 3NV+1 43 -630 -11.0 11.0|104 304 2v V+1 &5 -140 -12.0 12.0|105 305 2NO-1 42 100 13.0 -13.0
105 305 3NV+1 46 -630 -11.0 11.0|105 305 2v O+2 #A -170 -22.0 22.0|104 304 INO= #4 -90 -35.0 35.0
1201 4vV+1 &7 -650 -20.0 20.0(102 302 2NV +3 ¥7 -210 -28.0 28.0|101 301 1¢ O+2 43 -110 -38.0 38.0
2202 49y V+1 #8 -650 -20.0 20.0| 3203 4vyV= &5 420 -73.0 73.0| 5205 2NO= 4«9 -120 -45.0 450
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7 4 K105 Basta kontrakt 8 a5 Basta kontrakt 9 oD Basta kontrakt
Syd vE5 6NT S = 1440 Vast v Kn86532 5¢ N =450 Nord v EKn9 5& N =400
Alla + KD Ingen + ED53 ov + K107
#KDKn982 & ¢ v & NT »Kn7 & ¢ v & NT #KDKn1062 & ¢ v & NT
4DKn8 4932 N 126 7 1112 4 Kn963 41074 N9 9 119 9 4 K10982 &7 N 116 5 8 7
v K762 vD1083 S 126 7 1112 vD1097 vE S99 119 9 v 108743 v D62 S 116 5 8 7
¢+ Kn9863 ¢ 10754 016611 ¢ Kn8 ¢ 109642 04 42 44 ¢ EKn ¢ D98532 026853
+10 #53 V16611 K42 #D853 V 44233 3 #E95 V261753
2 E764 « EKD82 » EKn6543
v Kn94 vK4 v K5
¢ E2 * K7 ¢ 64
*E764 *E1096 »874
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 7#S= &Q 2140 135.0 -135.0( 1 201 4v N= &5 420 35.0 -35.0(101 301 3NN+1 &5 430 98.0 -98.0
103 303 7# S= 4Q 2140 135.0 -135.0( 2 202 4v S= ¢J 420 35.0 -35.0(104 304 44 N-1 &7 -50 6.0 -6.0
5205 6NN= v8 1440 720 -720| 4204 4v N= T 420 350 -350| 1201 3NN-2 ¢3 -100 -13.0 13.0
1201 64S= 3 1370 61.0 -61.0| 5205 4v N= 2 420 350 -350| 2202 3NN-2 ¢8 -100 -13.0 13.0
105 305 5NS= ¢8 660 -4.0 4.0 (101 301 4v N= #3 420 350 -350| 3203 3NN-2 ¢3 -100 -13.0 13.0
102 302 54 S+2 «Q 640 -11.0 11.0(105 305 4y S= 46 420 350 -350| 4204 3NN-2 ¢8 -100 -13.0 13.0
2202 7#N-1 &3 -100 -93.0 93.0|102 302 14 S+2 ¥9 140 -31.0 310 5205 3NN-2 3 -100 -13.0 13.0
3203 7NN-1 ¢5 -100 -93.0 93.0|104 304 2¢ O-2 «A 100 -41.0 41.0(102 302 3NN-2 5 -100 -13.0 13.0
104 304 7NS-1 ¢ -100 -93.0 930 3203 3#S-1 ¢J -50 -69.0 69.0|103 303 3NN-2 ¢J -100 -13.0 13.0
4 204 7#S-2 #T -200 -109.0 109.0|103 303 4v S-1 46 -50 -69.0 69.0|105 305 44 S-2 #3 -100 -13.0 13.0
10 a7 Bésta kontrakt 11 41054 Bésta kontrakt 12 484 Bésta kontrakt
Ost v E982 5¢ S =600 Syd v 10953 6NT V =-990 Vast v 84 44 V =-420
Alla + KKn10 Ingen + D874 NS ¢ EKn52
#Kn8732 & ¢ v & NT *E5 & ¢ v & NT #108762 & ¢ v & NT
4Knl09 & D8652 N8 118 7 9 « EKn « KD6 N12231 4EKN6  4KD1052 N6 5334
vKn643 vKD5 S 8 118 8 9 vK864 vED S12231 v 107532 vDKn S6 5434
+9 ¢ 7653 04 2554 ¢ E96 ¢ KKn10 O 1211111012 +8 ¢+ KD104 07 8 9 109
#KD954 &6 V425514 #K1073 #DKn984 V 1211111012 #ED54 493 V789 109
& EK43 498732 4973
v 107 vKn72 v EK96
+ ED842 4532 49763
*E10 *62 #KKn
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 301 34DO-34A 800 450 -450| 5 205 7NDV-1 «A 100 123.0 -123.0 (101 301 44 O-1 vA 50 80.0 -80.0
1201 3NS+1 #4 630 -1.0 10| 2202 5NV+1 2  -490 770 -77.0|] 5205 2vV+1l &6 -140 44.0 -44.0
3203 BNN+1 42 630 -1.0 10| 1201 6NV= T -990 -25.0 25.0(103 303 24 O+1 42  -140 44.0 -44.0
4 204 3NS+1 #K 630 -1.0 10| 3203 6NVv= &#A -990 -25.0 250 1201 44 0= 46 -420 -240 24.0
102 302 3NS+1 &4 630 -1.0 10| 4204 6NV= &A -990 -25.0 250| 2 202 44 O= 43 -420 -240 240
103 303 3NS+1 42 630 -1.0 1.0]101 301 6NV= ¢3 -990 -25.0 25.0| 4 204 44 O= <vA -420 -240 240
2 202 3NS= #J 600 -10.0 10.0|102 302 6NV= 7 -990 -25.0 25.0|102 302 44 O= <vA -420 -240 24.0
5205 3NN= 42 600 -10.0 10.0({103 303 6NV= T -990 -25.0 25.0|104 304 44 O= <vA -420 -24.0 240
104 304 3NN= 42 600 -10.0 10.0(104 304 6NV= T -990 -25.0 25.0|105 305 44 O= <vA -420 -24.0 240
105 305 3NS= ¥4 600 -10.0 10.0(105 305 6NV= +v2 -990 -25.0 25.0| 3 203 3NO+1 46 -430 -240 240
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